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(1) B=(B1, B2, f3)' 000 20000 b= (b, b, b3) OO DOODODO
(2) 000000 ¢?000000 620000000

(3) bODODO Var() 0O OOOODOO

(4) 000 0 10000000000AR(1)0000

et = pre—1 + &, & ~ IID(0,7?)
O00000Durbin=WatsonOOOOO d000O0OO00O0O

(5) () 0000 dODOO0Hy: ¢y =00 H : ¢ #00000000000000000
005%0000

(6) ()0 000000BULOUOODD 20000 bgrs0 00 0000 $1DDDDDDD
O0000000000000000Prais=WinstenO O OO OO O M Prais=Winsten O
oooon GLSDDDDDD@DDDDDDDDDDDDDDDDDDDD]
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(7) bgrs 000 Var(b)0ODODOOOODO

(8) ()OO (HODODOODUOUOOD 100000000 UDODDOOO0DUDOOODODOOOOOOO
ugboogoboboobooood

01: 000 8UO0O0O0000O0O0O0O0D0ODO0O0OODOOOOOO)
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(GWh) (°C) (O0O0:00)

t epwri tempy gdpy
1996 2,879 31.7 71.8
1997 2,704 29.9 70.7
1998 2,901 31.2 70.7
1999 2,764 30.3 71.3
2000 2,869 33.0 73.7
2001 3,139 33.8 73.0
2002 3,410 32.3 74.9
2003 2,816 27.8 76.0
2004 3,213 33.7 78.4
2005 3,025 31.3 81.6
2006 2,947 30.3 83.8
2007 3,030 29.2 85.8
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epwr; = 1 + Patemp; + Psgdp; + € (i=1,...,n) (2)
000000000000000000O0O0000000ooooon
(1) B=(B1, B2, f3)' 000 20000 b= (b, b, b3) OO DOODODO
(2) OLSO0D e=y—-XbOODOODODODO
(3) 000 000000000000
Var(e;) = O'Z-2 = ag + a1pop;
000000000000 Breusch=Pagan=Godfrey 10 0000000000

(4) 3)0000BPGUOOODUOUOOOOHy: ;=00 H:p#00000000000
O0000oooos%0ooon

(5) OLSUODO bors 00 0ODOOWhiteD HCCMEO O ODOOOOOODO

02 000 (20070 8000000000000 DOOOOOOODOOOOOOODO)

o000 (ooood oooo O0oo0o0 |0oo0ogo oad
0 GWhO °0) DoDO0 | 00000
i epwr; temp; gdpi POop;
oOod oo 849 28.3 19.7 5.6
oad oo 1,962 29.9 46.0 11.9
oad oo 9,036 33.0 209.9 42.7
oad oo0oo 3,030 34.4 85.8 17.3
oad oo 628 33.4 13.8 3.1
oad oo 4,637 34.6 86.4 20.9
oad oo 1,578 33.4 31.6 7.6
oad oo 856 33.8 13.9 4.0
oad oo 2,715 33.7 47.7 13.3
oad o0 (@oo) 314 31.5 3.9 1.4
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RE(IZHI=->ThEVL

fElRE 1
12 A 21 BOE 21 B X THUL = Prais=Winsten j£% . #2U1RL PW ;%IZ#i:5ELT= Scilab A—RFZ LI TFIZRT,
clear
T
% = [5. 02 0 95 -3.82;3.04;4.04;6.98;1.93;2.25;-1.19;-14.38 1]
= [1,-0 13 99; 1 -0.117,0.93;1,-0.073,1.32;1,0.008, 7. 14;1,-0. 059, 14. 06;
1, -0. 155 10 18; 1, 0. 076,10.95 1,0. 022 12.94:1 —0.095,—6.5321,—0.242,—34.84]

/ obtain olse
b = |nv(§ ;X)*X *y

=y
S|g2 =e'xe / (n=3)
varb = S|g2*|nv(X *X)
tau = zeros( 1
for i=1:3 ; tau(i,1) =b (i, 1) /sart(varb(i, i)) ; end
// Durbin-Watson statistics
// U is 9%10 matrix

U=[ -1,1,0,0,0,0,0,0,0,0
0,-1,1,0,0,0,0,0,0,0;
0,0,-1,1,0,0,0,0,0,0;
0,0,0,-1,1,0,0,0,0,0;
0,0,0,0,-1,1,0,0,0,0;
0,0,000-1,1,0,0,0;
0,0,0,000,-1,1,0,0;
0,0,0,000,0-1,1,0;
0,0,0,0,0,00,0-1,1; 1
//

edif = Uxe

dw = edif *edif / (e *e)
//

//100p

for j=1:100

el=e(2:10,1); eml=e(1:9, 1)
philh=el’ em / (eml’ xem1)

prlntf( |terat|on %d: est. value %f, j,philh")

if
|%dabs(ph|1h0—ph|1h) <10" (-10) then break
en

end
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GyZGamma*é ; GX=GammaxX
bg = |nvé X' *GX) *GX’ *Gy

ph|1%0—ph%1h

eg = Gy - GXxbg

siglg = eg *xeg / E 3)

varbg = S|g2%*|nv GX' *GX)

taug = zeros

{or i=1:3 ; taug(| 1)=bg (i, 1) /sart (varbg(i, i)) ; end
aug
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